Manuals+ — User Manuals Simplified.

|4

Awl
=

CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling
Sensor Kit User Guide

Home » Creality » CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor Kit User Guide -

Contents
1 CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor
Kit
2 Packing List
3 Circuit Principle
4 Update Firmware
5 Update Firmware
6 Install BL Touch
7 Platform Adjustment
8 Platform Adjustment
9 Software Settings
10 AUTO BED LEVELING SENSOR FOR 3D PRINTER
11 SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.
12 Packing List
13 Install BLTouch
14 Circuit Wiring
15 Update Firmware
16 Platform Adjustment
17 Software Settings
18 Documents / Resources
18.1 References
19 Related Posts

CREALITY

CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor Kit


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/creality
https://manuals.plus/creality/zdtp-32-bit-bltouch-v3-1-auto-bed-leveling-sensor-kit-manual.pdf

EFGE 9EsXK

AR
ihrﬁ‘a-:: ECUSH
(B0 swaTvay

BLTouch

AUTO BED LEVELING SENSOR FOR 3D PRINTER
This guidebook is for Creality V1 mainboard.lt include but not limited to the following 3d printer: CR-10/Ender-3
File download: https://www.creality.com/download/

Scan QR code to view detailed instruction

SHENZHEN CREALITY 3D TECHNOLOGY CO.,L TD.

11F & Room 1201,Block 3,JinChengYuan,Tongsheng Community, Dalang, Longhua District, Shenzhen,
China,518109

Official Website: www.creality.com

Tel: +86 755-8523 4565

E-mail: info@creality.com cs@creality.com



https://www.creality.com/download/
http://www.creality.com
mailto:info@creality.com
mailto:cs@creality.com

Tl el @ =t

BLTouch Connectors Tie Rack  Pinboard A M3X6 2PCS M3X8 2PCS ISP Pinboard Burner

Circuit Principle

(@ Circuit Principle

Creality V1
Mainboard

8 bit

@) Circuit Principle

Creality V1
Mainboard

32 b it 2 Stop |:| Screen

2pin [77]
D Spin

= RBL.Touch

vee O
GND O
316 0O

¥
|nn= |;|=|
CLLLY]

Flaboard A 3pin _

Connectors




Update Firmware

@ Update Firmware 8 bit

ISP Pinboard Bumer PC

Mainboard

1. Connect ISP Pinboard and Burner.
2. Open the control box and fmd out the mainboard
3. Insert ISP pinboard into the mainboard 2X3 pins as the sign shows.

4. Insert the burner into computer USB port.

Select Chip
g l <2 88 ATmegal284P ~
progispl72 progisp.exe I-.{'-:w-n"- = . e—
w :: :l‘l‘-lz:;r::l. 1.GENBLTouch hex
:E‘i Ender-3Marlin1.1.6BLTouch hex

S MEX DI

s EWES

o+ BE
FREHE (60 PRI RTINS + el e b
e p—— -
Lo Fune By Hgh Fiae Bts Extond Fuse By LockBils Coltraten |
B cone I ocoen |- | &= om0
0 oo | | =i |- ne . |
L g | ] | B Woas:
wm i vorow I = | U
cny | " | Lt ol
W oon: Moz Wecowrm: Moo W
W oo Mecorszs Mecoee: W
W csue Bwomst  WEocowns Wl d
|[cortone] avgaten
LonVaha D6 Hghiakas DT Extisive FO Lock Ve FF
Read Defaudt wWrite L Wirite:
w u

1. Open progisp.exe

2. Select Chip ATmega1284p3, Click ... —> Set Low Value=D6, HighValue=DC, ExtValue=FD—>Click Write and
close the window.

3. load Flash—>Select .hex 1ile.

4. Click Auto to update firmware, wait until it 1inishs, then close.

5. Unplug the ISP Pinboard from mainboard.

Update Firmware



- < | Removable Disk (G:) =

€« * 1 aa > ThisPC » Removable Disk (G:) v/ @ | Search Removable Disk (G:

A Name
# Quick access

M Desktop
¥ Downloads

%] Documents

" @ Ender-x so0omx-vix-BLTOUCH
..
¢
..

& Pictures

Note: Every firmware files is different for every machine !

1. Double-click to open computer-right-click to format SD card.
2. Copy the firmware to the SD card. Note: the SD card only holds one firmware file.

u

LB

CREALITY

3. Insert SD card.
4. Insert the power cord and press the switch.

5. Wait for the brush firmware to complete (about 10 seconds).

Install BL Touch

@ Install BLTouch

-

=
-

1. Insert connectors into 5 Pin Port.

2. Install BL Tocuh on the rack with 2 M3X6 screws
3. Loosen all fan cover screws, Install the farme on the corresponding position with 2 M3X8 screws

4. Secure the cable to the guide tube and cable with a cable tie and bypass the rear side of the gantry.



®) Circuit Wiring 8 bit

Screen

1. Unplug the screen cable, connect the pinboard A to the screen port (EXP1).
2. Insert the screen cable into 10 pins port.
3. insert the connectors to the 3 pins port as the sign shows.

4. Unplug the Z limit switch(Z-stop port),and insert the connectors



(B Circuit Wiring 32 bit

Screen

1. Unplug the screen cable, connect

@ (’D the pinboard A to the screen port
(EXP1).
2. Insert the screen cable into 10
pins port.

3. insert the connectors to the 3
pins port as the sign shows.

4, Unplug the Z limit switch(Z-stop
port),and insert the connectors.

1. Unplug the screen cable, connect the pinboard A to the screen port (EXP1).
2. Insert the screen cable into 10 pins port.
3. insert the connectors to the 3 pins port as the sign shows.

4. Unplug the Z limit switch(Z-stop port),and insert the connectors.

Platform Adjustment

® Platform Adjustment



1. Prepare—>Auto home, and wait until it stops.

Z Offset:

2. Prepare->Move axis—>Move Z—>Move 0.1 mm—>Rotate the knob until the distance between them is about

0.2mm (as a sheet of A4 paper) , write down the value of A.

3. Rotate the knob until the distance between them is about 0.2mm (as a sheet of A4 paper) , write down the

value of A (For example, figure 3)

4, Control—>Motion—>Z Offset—>write down the value of B, then rotate the knob until it comes out as: C=B+A.

Return Control and Select Store settings.

Platform Adjustment

Info Screen kv

No TF Card
[About Printer +

Control +

[Main
Temperature
e Motion
BLTouch |
| Bed Levell ng > |

(Motion i i
Auto Home | rotate the knob until the

Level Bed .. [ distance between them is

i';.a-d:beuziur:;et about 0.2mm (as a sheet of
‘ A4 paper).

Main
Temperature

2. Select control.
3. Select Bed leveling.
4. Select Level Bed.

FR

Fisurel

. e —— 7 .
Pr-al:-l g Poi nt 1/9 | Probi g Paint 9/9

5. leveling 9 points

6. 9 points leveling completed



7. automatic leveling is completed, the machine is ready to be OK

Note: Every machine has its own operation interface.

Software Settings
@ Software Settings

(3 Machine Settings HH
y Machine Settings
(3 Uttimaker Curs
Lils Bt Yiew Printer Extruder |
cura. ™, Priater Settings Printhead Settings
T Oidw 300 m | X min 2 nm
Y (Depth) 300 m | ¥ min 10 -
Z Ofaight) 00 o X max 10 -
Y max 10 -
Build plate shape  Bectangular -
i o Origin at center Guntry beight x Y
> ]
2 - Settings— Printer—Manage ) SRR
Printers
Ulimalksr Cura 3.5.0
@ Prefererces e
- End G-code
Printers o1
e Open Cura Aetivate i Jaware = 61 F1800 E-3
i Gl F3000 110
=103 460
Compart v s Bt G28 X0 YO : home x and y axiv
U WI0E S0 ; twn off ceeling fan
Casmartioe: = NMiD4 S0 ; turn off extruder
W40 SO ; twn off bed

3 . Machine Settings 4, Change“G28"t0“G28 G29”

AUTO BED LEVELING SENSOR FOR 3D PRINTER

This guidebook is for Creality V2 mainboard.It include but not limited to the following 3d printer: CR-10S/CR-10
S4/CR-10 S5/CR20.

File download: https://www.creality3d.cn/download/
Video instruction of firmware flash: http://bit.ly/2FkyOag
Video insruction of USB Driver Installation: http://bit.ly/2ZNvjTn

Scan QR code to view detailed instruction

[m] i =]

[=]

Website Facebook

SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.

12/F, Block 3, JinChengYuan, Huafan Road, Tongsheng Community, Dalang, Longhua District, Shenzhen, China,
518109

Official Website: www.creality3d.cn
Tel: +86 755-2103 4006

E-mail: info@creality3d.cn cs@creality3d.cn


https://www.creality3d.cn/download/
http://bit.ly/2FkyOag
http://bit.ly/2ZNvjTn
http://www.creality3d.cn
mailto:info@creality3d.cn
mailto:cs@creality3d.cn

Packing List

(1 Packing List

BLTouch Connectors

- i 7

Rack M3X8 2PCS M3X6 2PCS

Install BLTouch
@ Install BLTouch |

i1
1. Insert connectors into 5 Pin 2. Install BLTocuh on the rack with
Port. 2 M3X6 screws

3. Loosen all fan cover screws, 4. Secure the cable to the guide tube

Install the farme on the and cable with a cable tie and bypass
corresponding position with 2 the rear side of the gantry.

M3X8 screws



Circuit Wiring

@) Circuit Wiring

Creality

{ Vet

Open the control box and find out the mainboard.

Unplug the Z limit switch (Z port),and insert the connectors.

Insert connectors into the mainboard D11 pins as the colorshows.
Closed the control box.

Connect ISP Pinboard and Burner.

I e

Connect computer to update firmware with usb cable.

Update Firmware

@ Update Firmware
# | Cura - 15.
File Tools [Macmne Expert Help
Basic [Adval  Cr-108 |
Quabty Cr-10 54
Layer heighi <1085 Communication settings
® Cr20 .
Shell thicknd | Serial port com1 =
Enable retra Add new machine... |
T - ( Baudrate 115200 z
Fill achine seﬂlngs.,. |
Cura 15.04. |
Bottom/Toy Install default firmware...
Fill Density ( Install custom firmware...

Open Cura—Machine—Machine settings— Select Serial port COM & Baudrate 115200

TTon T
File_Tools re—rr
WU [Ad G108
Quality 1084
Layer hogh]__| 1058
shetthang &
Enable retra Add rew machire..

e . =

Curd ey supparts frmmane updates for ATMegaza00 based Connecting te machbe...
harware
$0 updsting your Aepdap with Cura mighe or might not work,

Machine cominge_. T am
ol -
BottormToy  Instal default Frrmware., :
FHDensry (| Install custom emesare... e || _w

Machine— Install custom firmware— Select .hex file—Click OK to update Waiting until it is finished, then click ok.



Platform Adjustment

2. Prepare—Move axis—Move Z—Move 0.1mm— Rotate the knob until the distance between them is about
0.2mm as a sheet of A4 paper write down the value of A.

3. Rotate the knob until the distance between them is about 0.2mm as a sheet of A4 paper write down the value
of A For example, figure 3.

4. Control—Motion—Z Offset—write down the value of B then rotate the knob until it comes out as: C=B+A.
Return Control and Select Store settings.

Software Settings

® Software Settings
Taeel printecs Machine Settings
. €530 34
| anm | Prioter  Exuradar 1
of s e |
Crasdiny CErb | Prister Settings Printhesd Settings |
::i;’m * fudes) 00 oo I ain |= |
il Priste ¥ Qi) a0 o i |10 |
T B Oeaght] 400 oo X |10 el
T |10 |
: : Build slate shee  Bestwpder <
2 . Settings— Printer—-Manage TR il S S =
Printers ¥ Tuated d =
Uitimaker Cura 350 revde flomr tarlin
Start C-msds Tud C-anis
G2 Kb 10 = on
1. Open Cura B ool 52
iPrime the extruder a0
e E0 G2 0 W0 ; hews x wnl ¥ was
G FIW) B3 L MOE S . twm of eoling fua
G ED = MI04 30 : tarn off evtruder ™|
. I ir ML 30 twrm ofF bed -
3. Machine Settings 4 . change "G28” to "G28 X0 YO G29 Z0”

Documents / Resources

CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor Kit [pdf] User Guide
ZDTP-32 Bit, BLTouch V3.1 Auto Bed Leveling Sensor Kit, Auto Bed Leveling Sensor, Bed Leve
ling Sensor, ZDTP-32 Bit, Leveling Sensor

References

« @ Dropbox - File Deleted



https://manuals.plus/m/17648c928aea42260d6560723b0d35a2dfdcebdbda8909a45e37576103d2bf34
https://manuals.plus/m/17648c928aea42260d6560723b0d35a2dfdcebdbda8909a45e37576103d2bf34_optim.pdf
http://bit.ly/2FkyOag

« @ Dropbox - File Deleted

Manuals+,


http://bit.ly/2ZNvjTn
https://manuals.plus/

	CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor Kit User Guide
	CREALITY ZDTP-32 Bit BLTouch V3.1 Auto Bed Leveling Sensor Kit
	Packing List
	Circuit Principle
	Update Firmware
	Update Firmware
	Install BL Touch
	Platform Adjustment
	Platform Adjustment
	Software Settings
	AUTO BED LEVELING SENSOR FOR 3D PRINTER
	SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.
	Packing List
	Install BLTouch
	Circuit Wiring
	Update Firmware
	Platform Adjustment
	Software Settings
	Documents / Resources
	References



